1390

ok

2 5 i X

@ REWEE

1:% FRELTEHORL

i
Hl

REI BAEZEHNE AS20F t=4cm
ERBET s
M-25 t=10cm -
TERET S
*% RC40~0 t=25cm ‘“
. <
:]:E RELEHREL g e
Mot EEERES— =
ﬁlj W=150 g
) REER) S
HIVPl 75 g
600
=3 0
& i
N «
(#=a]
BRERBLKE HIVP ¢ 75
‘ = N
| BEEXBL K E+HH AR E
\
\
|
|
/1‘\\ — = ~
‘\HL/‘,,, s \\\

600

S =Free

N «

S=Free @ kEhi

M S =Free

WT ¢75x @75

BEHBOEL
53
§ ?E BaAE
=l
1000
[#re%al]
BEEREKE VP o775
| /
: MVD 75
aD /
qiD /M
_ WF_ 75
dib \
e
< v |
ap NM

670

800

EBEBE S=1/50

N <

EEL!
600 300 1, 400
o R |
g ¢ ey
5 L
e
1,000 1, 400
g |
=Y I N L/E{EQ\
e @ @ HRE
SHNEEFEE HAEREIE 3IRX)
% s o =
il 1/3 R B 7R
HizErT =HAEBT LHETREI
(ETE909E #)
i} &% &
e 2 L&

HWmETRE KER




> =

1390

@ FHEH

S=Free

KEI BHEFHE AS20F

t=4cm

3
TRERET s
M-25 t=10cm 2
TRERET S
RC40~0 t=25cm ~
1%
*E RETEORL =
Lo (| RS — =
ﬁlj =150 8
N .
HIVP 6 75 8
600
v —
& S =1/50
1,100 600 800
,,,,, e
g | \ \ \
— A | ©] | §
= ,,@,,,,@,Lﬁ‘fi%"ﬁféﬁ\ -
@ DR THk
— J Lo —

12 Hll i X
@ RHED

S=Free

1390

i

——
ﬁl] tﬁ%Qwi R— b

% RELTEBORL

1l00

100

) REER

HIVP| @ 75

100 | 90 | 200

600

&+ il X

> =

BEEk B KE VP o756

EEfXBLKE HIVP

S =Free

¢ 15

_WF 475

- ‘\L,\
NI & HIVP _ ¢75 2.300
WD ¢75

=)

1470

@ REHEE S =Free
RETEHREL g
e
L3
:]:E BEAE
Al s
1000
SHMEEFEE HAERREIE 3IRX)
: 2/3 | R mx
HEwWmAET w5 REiE
(ETE960= #)
i &% &
* 2 it IR

HWmETRE KER




2 5 i mE X

@ HHEEH S=Free @ REEE S =Free

REI BAEEHNE AS20F t=4cm

1390

|

LRERET g
M-25 t=10cm -
TEBET o FAETEHREL g
RC40~0 t=25cm «
i FAETBHREL 2 E gﬁ;‘t REAE
s = it
ﬁlj =150 g ﬁl] g
) wEB ;
HIVP|¢ 75 §
o 1000

ERBE S=1/50 & i X S =Free

N
A
BEsRE /K& DCIP ¢ 200
1,900 1,000 \
] | BEREAE OCIP @75
- R !
= T T e T T R ‘ WC ¢75 WVF 075
) | \
= | ol SHMSEE HARBBEIE BIR)
\T/F/¥ g ﬁ _ _
Ry = 3/3 R S

HmHE /5 PH#

(ATE135 %)

IR

i =
= o It IR

&

HWmETRE KER




